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'HQJDQ�PHQ\HEXW�QDPD�$//$+�6�:�7��\DQJ�0DKD�3HQJDVLK�ODJL�0DKD�

3HQ\D\DQJ� NDPL� SDQMDWNDQ� SXML� V\XNXU� VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ�

ODSRUDQ� 7XJDV� $NKLU� ´3HUDQFDQJDQ� 6WUDWHJL� 3URPRVL $SSDUHO� -HUVH\� $YDQWL´�

'DODP�SHPEXDWDQ�ODSRUDQ�LQL��SHQXOLV�PHQGDSDW�EDQWXDQ�GDUL�EHUEDJDL�SLKDN��PDND�

SDGD�NHVHPSDWDQ�LQL�3HQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD���

���%DSDN�)DX]L�$ULI�$GKLND��6�'V���0%$�VHODNX�GRVHQ�SHPELPELQJ ,��\DQJ�WHODK�

PHPELPELQJ�GDQ�PHPEHUL�DUDKDQ�GDODP�SHPEXDWDQ�ODSRUDQ�LQL��

��� ,EX $WULD� 1�� )DGLOOD� 6�'V��� 0�'V VHODNX� GRVHQ� SHPELPELQJ� ,,�� \DQJ� WHODK�

PHPELPELQJ�GDQ�PHPEHUL�DUDKDQ�GDODP�SHPEXDWDQ�ODSRUDQ�LQL����

��� 5H]D� )HOLQGLWR VHODNX� SHPLOLN� $YDQWL \DQJ� WHODK� PHPEHULNDQ� LQIRUPDVL� GDQ�

EHUVHGLD XQWXN�GLMDGLNDQ�WRSLN�SHQHOLWLDQ�7XJDV�$NKLU

��� 6HOXUXK� PDV\DUDNDW� \DQJ� VXGDK� PHOXDQJNDQ� ZDNWX� EHUVHGLD� XQWXN� PHQJLVL�

NXLVLRQHU�\DQJ�3HQXOLV�DMXNDQ��

3HQXOLV� MXJD� XFDSNDQ� WHULPDNDVLK� NHSDGD� VHPXD� SLKDN� \DQJ� WHODK�

PHPEDQWX�GDODP�SHPEXDWDQ�/DSRUDQ�3HQHOLWLDQ� LQL��6HPRJD�/DSRUDQ�3HQHOLWLDQ�

LQL� ELVD� EHUPDQIDDW� EDJL� SHPEDFD�� 3HQXOLV� PHQ\DGDUL� EDKZD� GDODP� SHPEXDWDQ�

/DSRUDQ�3HQHOLWLDQ�LQL�PDVLK�MDXK�GDUL�VHPSXUQD�XQWXN�LWX�3HQXOLV�PHQHULPD�VDUDQ�

GDQ�NULWLN�\DQJ�EHUVLIDW�PHPEDQJXQ�GHPL�SHUEDLNDQ�NHDUDK�NHVHPSXUQDDQ��$NKLU�

NDWD�3HQXOLV�VDPSDLNDQ�WHULPDNDVLK�����
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